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General Instructions:

1. All questions are compulsory.

2 The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

@Us-3 / SECTION-A
WY HEAT 18 4 W WAE w1 SR
uestion numbers 1 to 4 carry one/ mark each

1 195 PQR T Yoeil PQ a1 PR W v fag M aa N feora €1 af PN=4.8 em, NR=16cm, 1
PM =4.5.cm 91 MQ=1.5 cm ¥, 71 91a Fif9 fF MN||QR & =1 77&i |
M and N are points on the sides PQ and PR respectively of a APQR. If PN=4.8 cm, NR=1.6
cm, PM=4.5 cm and MQ = 1.5 cm, then find whether MNJ|QR or not.
/ tan2 10° — cot? 80° &1 HIF FId T | 1
Find the value of tan? 10° —cot? 80°.
x/ 3sina—4co§uﬂmmﬂaﬁﬁ1‘{ﬁafﬂ?smu=%%l .
/ Find the value of 3 sin @ —4 cos’q, if sin «= %
uF wEufas gd o w WA hW §L B H AgEs  §@ Aifaq |, FEE 1
qieas =41.25 3 A = 33,75 fean gen €1 \
Find the modeg of the data, using an empirical formula, when it is given that median =41.25
and mean =33.75.
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EUusS-o / SECTION-B
e WA 5 H 10 H Wl % 2 3 E |
Question numbers 5 to 10 carry two marks each.
Ffiere fawrs At 1 H T f gfeers witfaw 1 WA a < b % fo ffa =m0, TWa=b 2
q+rﬁa,b,qmrﬁﬁﬁqﬁﬁ@1aﬁaﬁm@sﬁﬁfﬁl

State Euclid division lemma. If Euclid lemma is used fora <basa =bq +r, then which of a,

b, g, or r is necessarily zero.
% mm%wmmm@mmmmwmm%. 2

PProve that the sum of a rational number and an irrational number is always irrational.
A”/@%@umwsxﬂyﬂm%naﬂaﬁﬁwm%@aﬁwwmwmaﬁ 2
it g g el
Given the linear equation 3x +4y =9 write another linear equation in these two variables such
that the geometrical representation of the pair so formed is :
() intersecting lines (ii) coincident lines

2 @ T TEAE TR ST S A R g 9 10 HeT @2 15 2 § 991 3 & i B Gl 2
53 Hiet & q 37 % virsl 1 g i HiSE |

Two poles of height 10m and 15m stand vertically on a plane ground. If the distance between
eir feet is 543 m, find the distance between their fops.

7 sin (A + B) = 1 3 tan (A — B) = -%%;ouA + B<90°3itA>BE @ AsRBFAM
T T |
Ifsin (A + B) = 1and tan (A — B) = \/15- .0°< A + B<90°and A > B, then find the values of

and B.
10, Y T T TRERA S AR 6 R g SO TG U AR SRR Sed AR TS | 2

o
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x
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10 ¥ fusw A
% TR 38
20 ® afew 4@
IF T

30 | = =@
EREC U e
40 § 3fus Al
T 11
50 ¥ afss
IFF AT .
Given below is a cumulative frequency distribution table. Corresponding to it, make an
ordinary frequency distribution table.

E lf |
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More than or
equal to 0
More than or
equal to 10
More than or
equal to 20
More than or
equal to 30
More than or
equal to 40
More than or
equal to 50

@Us-H / SECTION-C
VA &A1 11 W 20 H WA F1 3 3F T
~ Question numbers 11 to 20 carry three marks each.”

e fF 24 3R 36 F HCF d & | 3@ @ &AW a 3R b 7@ #ifey, fad fd 3
d=24a+36b & ST
Let d be the HCF of 24 and 36. Find two numbers a and b such that
d=24 a+36b.

127 dgm -2 pax—18 1 FEER x—~3 A WM FA RS e W9 W@ FIQ g1 e 3
TETTIYT 1 qIga Hifr |
Divide the polynomial .\'3 - lr: + 4x — 18 by the polynomial x — 3 and verify the division algerithm.

1 A% TG 232 + 110+ (6k— 3) T TF YFH—7 &l dl k &1 714 T HI0 | F§I8 F1 §80 YAF 4 3

ElciEaisud
For what alue of k, =7 the zero of.the polynomial 232+ 11x+ (6k —3)? Also, find the other

- /%o of the polynomial.
. T~V fafy @ T SR 3
- - 2x=5y+4

3v—-2y+16=0
Solve using cross multipfication method :
2v=5y+4

3x—2y+16=0
/ few g fo 7, APQR & wmav oy &, fred £2Q=90° 21 afz Qs=SR ¥, 1 ¥urzw fiF PR2=4 3

PS2-3PQ2 %1
P

G

\\‘ ‘\\\

\\ \

T AV

Q - R

In the given figure, APQR is a right angled triangle in which ZQ=90°. If QS=5R, show
PR2=4 PS2-3 PQ2,
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/|16 ) AABC 3 AEBC U @1 SN BC W #| 4 AE 9 W BC 1 D W wfa=de w7 §, o fg w3
— g ar(AABC) _ AD
- ar (AEBC)  ED
A

-
B

B D C
AABC and AEBC are on the same base BC. If AE produced intersects BC at D then, prove that

ar (AABC) _ AD
ar (AEBC) ED

B D

17 oA Fafae :

cosec 39°. cos 51°+tan 21°.cot 69°—sec? 21°
Evaluate :

osec 39°. cos 51°+tan 21°.cot 69°—sec2 21°

18 fag #ifg & - 3

sec 6 + tan 0 _(1 +si119)2
cos 6

sec B—tan 6
Prove that :

sec B + tan 6 _(1 +sin9]2

+sec0—tan @ cos 6
y/‘ U el Tl FerieeR % 80 Wi W Fdll it wew e ¥ 3
\/ =l F1 g 40-50. |50-60 |60-70 |70-80 |80-90 [ 90-100

gl &1 T 15 25 |14 12 8 6

WeF U T HaEl BT WEAT 1 1N TG RIS |

In an apple orchard, the number of apples on 80 trees are given below :
| Number of apples [40-50 [50-60 | 60-70 | 70-80 | 80-90 | 90-100 |
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[ Number of trees . | 15 [25 | 14 [12 | 8 |6
Find the mean number of apples on a tree.
fore =aEn s24 § 400 i F1 SHiEA Fe quia w0
ST et 2400- | 2800-
(3 ) 2000-2400 2800 3200 3200-3600 | 3600-4000
q@E &
; 50 70 150 100 30
qEAT
@] 1 AGAS S el [ P |
Life time of 400 fans are given in the following frequency distribution :
Life time | 2000- 2400- 2800-
-3600 | 3600-4000
(in hours) | 2400 2800 3200, 320.0 2 .
Number . | s 70 |150 100 30
of fans \ .
Find the modal life time of the fan. o

W T 21 W31 H UE 4 3FAF €|

FUs-q / SECTION-D

Question numbers 21 to 31 carry four marks each.

ey F T & ada 2, fo e 720 ml 3R 405 mI gM ¥ 3 A F gH B U @ aiia F 4
firemel H S a% ST e T W e fiedl i wE 9 E HEA 9 S |

Dhudnath has two vessels containing 720 ml and 405 ml of milk respectively. Milk from these
containers is poured into glasses of equal capacity to their brim. Find the minimum number of

glasses that can be filled.

FETR A — 23— 722+ 8x + 12 F & TAF -1 7N 2 ¥ 365 Al IS T FHIoQ)
Find all othex, zeroes of the polynomial x* —2x3 —7x2 + 8x + 12, if two of its zeroes are —1 an d
» T

2.

NG B 2y =5 Sl 2v— 3= —4 % for endE it A g o 9

Sl W T x- a1 et ¥
Draw the graphs of the pair of equations : x+2y=>5and 2v—-3y= -4
Also find the points where the lines meet the x-axis.

21 wrfaasii A 2 B &1 a7 &1 S99 9 : 7 ® 3R 9% @ % a4 : 3 ¥ A v At
ToE TR T 200 AT E, @ A WIfHF 3 T HIC | TG FAT ] AT § 2

The ratio of incomes of two persons A and B is 9 : 7 and the ratio of their expgnditures is 4 : 3,

If their savings are ¥ 200 per month, find their monthly incomes.

y is it necessary to save money ?

AABC ¥, AD #iit#=h1 3R AM L BC 8, i fag #ifs f

AB?+AC2=2 (AD*+BD?) ®|

If in the AABC, AD is median and AM L BC, then prove that

ABZ+ AC2=2(AD?+ BD?).

AABC #, 4% AD.LBC 3R AD2=BD x DC 2, di fag #ifoe ff £BAC=90° 71

In AABC, if ADLBC and AD2=BD x DC, then prove that ZBAC =90°.
\2]/ 7fg A +B=90°%, d fag Fife fF :

tanA tanB% tanA cotB _ sin’B

sinA secB

coszA
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If A+B=90°, prove that :
\/tanA_tanB—i— tanA cotB sin’B

sinA secB cos’A o .
\/ 4f2 /5ind + m cosd + n= 03 / sinb + m'cosh +n' = 0%, ?ﬁmaﬁfﬁqﬁﬁ(mn —mn)2'+ 4
, (nt' =2 =(m —I'm)2&I \
If Isin® + m cosf + n_’?e\andl sin® + m' cos® +n' = 0, then prove that (mn' — m'n)2 + (n/' -
AR = (Im' = I'm)2

2 fog =ife o : 2
(tan® + sech —1). (tan0 + 1 + sect) = _2sind 5"?0 {
1 — sinf
Prove that :
2 sinf

anf + secO ~1). (tan® + 1 + sech) =—

— sinf
9/ uF e H, 94 ¥ qfEe gu sy % U F g F e 3 iR

10 ®|20 A[30 A[40 A[50 F[e0 H|[70 F
3 (a'ﬂﬁ )
FH FH FH x| FH wH HH
A o
; 3
: 8 2 39 51 61 72 90
IE 2AHSl A UF A FH & WHR' H AR TG 791 39 9§ A1 | Ao
ftered § I FH Wi R |
In a hospital, age distribution of asthmatic patients admitted during is as follows :
o Less |Less |Less |Less |Less |Less |Less
(.E —_— than than |than |than |than |than | than
Eayiears) 10 20 |30 |40 50 60 70
i of | g 23 A39 it 61 72 90
patients

Draw a 'less than type’ ogive and from the curve, find median. Verify the result by actual

alculations.
3 40 W& e 1 2w, Fre aferam o quid v ¥ afk g faw @ e mawa 635 & A g 4

aﬁamﬁxamyama-ﬁﬁmx o
e & | 35. | 40- | 45- | 50- | 55- | 60- | 65- | 70- | 75- | 80- | 85- ’
(% ¥) 40 |45 |50 |55 [60 |65 |70 |75 |80 |85 |90
e % y N - S
i 2 4 y 6 8 4 2 3 2

Literacy rates of 40 cities are given in the following table. If it is given that mean literacy rate,is
63.5, then find the missing frequencies x and y.
Literacy rate | 35- | 40- | 45- | 50- | 55- | 60- | 65- | 70- | 75- | 80- | 85-
(in %) 40 |45 [50 |55 |60 [65 |70 |75 [80 |85 |90

Numger Sy 12 13 {= |y |6 s |2 |2 |3 |2
cities

-oUoUolo-
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